
B.A. Semester- VI (Honours) Examination, 2022 (CBCS) 

Subject: Political Science 

Paper: CC-14 

[Contemporary Issues in India] 

                                 The figures in the margin indicate full marks. 

Candidates are required to give the answers in their own words as far as practicable. 

দক্ষিণ প্রান্তস্থ সংখ্যা গুক্ষি প্রশ্নের পূণ ণ মাশ্নের ক্ষেশ্নদণশক। 

পরীিার্থীশ্নদর যর্থা সম্ভব ক্ষেশ্নের ভাষায় উত্তর ক্ষদশ্নে হশ্নব । 

Time: 3 Hours                                                                                                 Full Marks: 60 

 

1. Answer any ten from the following questions.                                                               2x10=20 

নিম্ন নিনিত প্রশ্ন গুনির যে য োি  ১০ টির উত্তর দোও।  

(a) What do you mean by the term 'Caste'. 

    

‘োে' বিশ্নে েুক্ষম কী ববাশ্ন া? 

 

(b) Mention any two initiatives taken by the government of India to stop violence against women. 

   

ভারশ্নে মক্ষহিাশ্নদর ক্ষবরুশ্নে ক্ষহংসা বশ্নের  েেয ভারে সরকার কেত ণক গতহীে বয বকাে দুটি পদশ্নিশ্নপর 

উশ্নেখ্ কশ্নরা। 

 

(c) Define secularism. 

   

 ধম ণক্ষেরশ্নপিো ক্ষক? 

 

(d) Point out any two features of the caste system in India. 

    

ভারশ্নে োে বযবস্থার বয বকাশ্নো দুটি ববক্ষশষ্ট্য উশ্নেখ্ কর। 

 

(e) Define communalism. 

    

সাম্প্রদাক্ষয়কোর সংজ্ঞা দাও। 

 

(f) Who wrote the book 'Caste in Indian Politics'? 

   

 'Caste in Indian Politics'-বইটি কার বিখ্া? 

 

(g) What is meant by 'Protective Discrimination'? 

   

 ‘সংরিণমূিক ববষময’ বিশ্নে কী ববা ায়? 

 

(h) What do you mean by 'Backwardness'? 

 



  'অেগ্রসরো' বিশ্নে েুক্ষম ক্ষক ববা ? 

 

 

(i) Mention any two causes for the growth of communalism in India. 

 

  ভারশ্নে সাম্প্রদাক্ষয়কো বতদ্ধের বয বকাশ্নো দুটি কারণ উশ্নেখ্ কর। 

 

(j) Mention any three programmes undertaken by the government to alleviate poverty in India. 

  

 ভারশ্নে দাক্ষরদ্র্য দরূীকরশ্নণর উশ্নেশ্নশয সরকার কেত ণক গতহীে বয বকাশ্নো ক্ষেেটি কম ণসূচী উশ্নেখ্ কর।  

 

(k) What do you mean by ‘Disaster Risk Reduction’? 

    

ক্ষবপয ণয় পূণ ণ  ুুঁ ক্ষক হ্রাস  বিশ্নে েুক্ষম ক্ষক ববাশ্ন া ?   

 

(l) For what was the Mondal Commission constituted? 

    

কী উশ্নেশ্নশয মন্ডি কক্ষমশে গটিে হশ্নয়ক্ষিি? 

 

(m) What do you mean by Schedule caste? 

  

  েপক্ষশক্ষি োক্ষে বিশ্নে েুক্ষম ক্ষক ব ু? 

 

(n) What do you mean by PWDs? 

   

 ক্ষবশ্নশষভাশ্নব সিম বযদ্ধিবগ ণ বিশ্নে েুক্ষম ক্ষক ববা ? 

 

(o) Discuss any three causes of poverty in India. 

    

ভারশ্নে দাক্ষরশ্নদ্র্যর বয বকাে ক্ষেেটি কারণ উশ্নেখ্ কর। 

  

2. Answer any four from the following questions                                                              5x4=20 

নিম্ন নিনিত প্রশ্ন গুনির যে য োি  ৪ টির উত্তর দোও।  

(a) Discuss briefly the causes of violence against women in India. 

 

ভারশ্নে োরীশ্নদর ক্ষবরুশ্নে ক্ষহংসার কারণ গুক্ষি সংশ্নিশ্নপ আশ্নিাচো কশ্নরা। 

 

(b) Point out the major challenges to secularism in India 

 

ভারশ্নে ধম ণক্ষেরশ্নপিোর প্রধাে প্রক্ষেবেকো গুক্ষি ক্ষচক্ষিে কর।  

 

(c) What do you mean by absolute and relative poverty? 

 

চরম ও আশ্নপক্ষিক দাক্ষরদ্র্য বিশ্নে েুক্ষম ক্ষক ববা  ?  

 

(d) Describe in brief the initiatives taken by the government of India to stop violence against women. 

 

ভারশ্নে মক্ষহিাশ্নদর ক্ষবরুশ্নে সংঘটিে ক্ষহংসা বশ্নের েেয ভারে সরকার কেত ণক গতহীে পদশ্নিপ গুক্ষি 

সংশ্নিশ্নপ আশ্নিাচো কর।  

 



 

(e) Discuss briefly how the rights of the Persons with Disabilities (PWD) have been protected in 

India. 

 

ভারশ্নে ক্ষবশ্নশষভাশ্নব সিম বযদ্ধিবশ্নগ ণর (PWD) ক্ষবক্ষভন্ন অক্ষধকার গুক্ষি ক্ষকভাশ্নব সরুক্ষিে হশ্নয়শ্নি ো 

সংশ্নিশ্নপ আশ্নিাচো কর। 

 

(f) Write a short note on Disaster Risk Reduction. 

দুশ্নয ণাগ পূণ ণ  ুুঁ ক্ষক হ্রাস সম্পশ্নকণ একটি সংক্ষিপ্ত িীকা বিখ্।  

  

3. Answer any two from the following questions                                                              10x2=20 

নিম্ন নিনিত প্রশ্ন গুনির যে য োি  ২ টির উত্তর দোও।  

(a) Discuss the role of caste system in Indian politics. 

 

ভারেীয় রােেীক্ষেশ্নে োে বযবস্থার ভূক্ষমকা আশ্নিাচো কর।  

 

(b) Discuss the causes of growth of communalism in India. 

 

ভারশ্নে সাম্প্রদাক্ষয়কো বতদ্ধের কারণগুক্ষি আশ্নিাচো কশ্নরা। 

 

(c) Discuss the various policies and programmes undertaken by the government to alleviate poverty in 

India. 

 

ভারশ্নে দাক্ষরদ্র্য দরূীকরশ্নণর উশ্নেশ্নশয সরকার কেত ণক গতহীে েীক্ষে ও কম ণসূক্ষচ গুক্ষি আশ্নিাচো কশ্নরা। 

 

(d) Write a note on the special provisions for the SCs and STs adopted in the constitution of India. 

 

ভারেীয় সংক্ষবধাশ্নে েপক্ষশক্ষি োক্ষে ও েপক্ষশক্ষি উপোক্ষে গুক্ষির েেয গতহীে ক্ষবক্ষভন্ন বযবস্থা সম্পশ্নকণ 

একটি িীকা বিখ্। 

 

  

 

 

 

 

   


